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A (—X40)
A HEET 1V
V= 76.00 X  0.10 7. 60
Tk L
V2= 27.80 X  0.12 3.34
10.94 m°® 10.9
)R o ezl 10. 94
PR 0. 00
10.94 m°® 10.9
% - R A %+ 0. 00
HEREL 0. 00
0.00 m? 0.0
S Al ( fmEl + R ) — ( L + HIE ) /0.9
V=" 10.94 — 0.00 /0.9 10.94 m°® 10.9
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(t=40mm) A= 76.00 - 76.00 m* 76.0
Wiy KE LY
(M-30, t=100mm) A= 76.00 = 76.00 m® 76.0
INEL: P &Y
(RC-40, t=120mm) Al= 7.70 X  4.00 = 30. 80
%No.0+5. 8~No.0+13. 5:L=7. 7m, W=4. Om
ES)
A2= 0.75 X 4.00 — -3.00

X = 27.80 m* 27.8
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(m) (m) (m®) (m) (m) (m®) (m) (m) (m®)
NO. 0 NO.O  + 0. 00 0.00 4. 00
NO. 0+19. 0 NO.O + 19.00 19. 00 4. 00 4. 00 76. 00
&t 19. 00 76. 00
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(—X40)
T EUE L T
T AT 7Lk aAET LD
SPEERREE L A= 76.00 76.00 m? 76.0
(t=10cmLL F)
SAERREIT L= 4.00 + 4,00 8.00 m 8.0
(72771 F) ¥¢No. OFEIHT : 4. Om, No. 0+19. OFIKT : 4. Om
(t=15cmPLF)
TEHRLEL T
DO EEMEEE L LV
(7277 k) V= 76.00 X  0.04 3.04 m® 3.0
RISy BOEM LY
(7277 F) V= 3.04 3.04 m’ 3.0
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+ L A %: % (—xY )
A HEEET LY
V= 193.54 X  0.10 = 19.35 m°® 19. 4
el S E7HEll = 19. 35
PR = 0. 00
> = 19.35 m°® 19. 4
I W Y O K+ = 0. 00
HE L = 0. 00
= 0.00 m® 0.0
¥ e C #BE + R — (Bt + HE ) /0.9
V= 19.35 — 0.00 /0.9 = 19.35 m°® 19. 4
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& 2k 5 A (3t 1)
T AT 7))L NEET
*JE HEFEELD
(t=40mm) A= 193.54 193.54 m? 193.5
S FELDY
(M—BO, t=100mm) A= 193.54 193.54 m? 193.5
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B 4 i # i CAECI i CAECI T i T B m M
Rl g AN (m) H s 'H H s 'H H s 'H
(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)
NO. 0 NO.O  +  0.00 0. 00 7.90
NO.0+3.0  NO.O +  3.00 3.00 3.90 5. 90 17. 70
NO. 1 NO.1 +  0.00 17. 00 4.15 4.03 68. 51
NO. 2 NO.2 4+ 0.00 20. 00 4.05 4.10 82. 00
NO.2+4.2  NO.2  +  4.20 4.20 8. 00 6. 03 95. 33
Bl 44. 20 193. 54
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SEERREUE L A= 193.54 193.54 m? 193.5
(t=10cmLL F)
TEHR L T
A EEYRIE L LY
(7277 k) V= 193.54 X  0.04 7.74 m’® 7.7
RS BOEME XY
(72774 V= 1.74 7.74 m® 7.7




